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x, y z 

Qx  Mux   Qy  Muy   Qz  MUz 

 

 5  150  2  260  5  250 

 10  100  8  140  10  100 

  

 y = 5000/= px = 

py  =  pz  =  

z 
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(signaling)  

 

' - ' (Principal - Agent Problem)  

  

A  B  

(Non-cooperative) 

 ; 

 

(Pricing Strategies)  

(Pay-off metrix)
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TC =  300 + 50 Q 

 

 A, B  C  

PA    =     250 - 10 QA 

  PB     =     150 - 6  QB 

  Pc      =    100 - 4  QC 
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i. 

ii. 

- -

 

A   B 

A  

  

B      

 

(  i ) (Expected Value) 

  ( ii ) (Standard Deviation)  

  ( iii ) (Coefficient of  variation) 

 
  



5 

 



6 

 

 

 

       

 
     le,‚h úYajúoHd,h -- iudÔh úoHd mSGh 

Ydia;%m;s$iudcSh úoHdm;s mdGud,dj  2015 

jd¾Isl mÍlaIKh  ^2016 Tlaf;dan¾$fkdjeïn¾& 

wd¾Ól úoHdj 

ECON 53025/ ECON M 02  :  Wiia wd¾Ól kHdh : 

m%Yak y;rlg ^04& ms<s;=re imhkak' 

m%Yak ixLHdj : 07 hs'                                                                     ld,h : meh 03 hs'            

___________________________________________________________ 
 

" " 

" "

" 

IS-LM   

" 

 

 

 

Y C r I L1 L2 M 

3000 2600 10 1000 500 1000 1500 

4000 3400 20 600 1000 500 1500 
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IS-LM  

 

10% 

10% 

S + T + M = I + G + X L = M             

  

" -

"  
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P1 = 200 - 2Q1,            P1 =  180  -  4Q2 

   

  C = 20(Q1 + Q2)  

 

     i. 

ii. 

(t) = 3𝑡
1

2 

Q1 = 50 - P1  P = 10 

Q2  Q1

Q2 
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C = 0.04q3 - 0.9q2 + 10q + 5  

i. 

ii. 

Q = 20 L0.5 K 0.5  (PL) 

(Pk) 

P1 P2 

M1, M2  M3   

23  

M1, M2  M3       M1, M2  M3     

P1  2 5 6   P1  1  2  3    

  P2 3 1 2 23  P2  2 1  2   23 
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(Q), (P) 

(M) (S) 

Q :     =    2 𝑃𝑖  +   2 Mi  +  3 Si 

 

   1,     2   3  i  

P  M  S  Q 

   1    6  5  5  4 

   2    8  8  6  6.4 

   3    5  6  4  5.1 

 

   i. 

ii.  1,     2   3  

       

 

X  (P.D.F) x = 1, 2, 3, 4 

P (1)  =  10 a,  P ( 2 )  = 4a2      P (3) = 4a2 P (4) = 4a2 + a 

   i. a 

ii. V (x + 3)   
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A, B, C  

( D )  

    

  

( i  ) P (A )  ( ii ) P ( 𝐷 𝐴⁄  )  ( iii ) P ( D )   

( ii ) 

P ( 𝐴 𝐷⁄  )  

5%  

  

r = 0.42  5% 

  



12 

 

A B 

(U S D)    68.50  68.58 

  (U S D)     2. 5    3. 0 

  1200  1500 

 

  5% 

   i. 

ii. 

   i. 

ii. 

iii. (Y)  (X1)

(X2 ) 

n  =   8      ∑ 𝑦  = 56  ∑ 𝑥1y  =   414       ∑ 𝑥1 =  56          ∑ 𝑥1
2  =  420 

  ∑ 𝑥2 𝑌=  242    ∑ 𝑥2=  32   ∑ 𝑥2
2  =  156        ∑ 𝑥1 𝑥2    =   248 

  

iv. 
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    i. -

ii. 

 

(x)  

(y)  

 iii. 

iv. 

(Seasonal  Indices) 

- -

- - 
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(Harrod-Domar Model) 

(Rostow's Stage of Economics Growth 

 Theory) 

" "

" 

" .    


